Q‘“éi

Sl” L. D' Qhindhow has e digrare
T: Qndon —tutz puuliu &y»lholuuu—b

We knaw —thak
(D) = 0:0L  tinee Hedieate affects
Ll o rﬂf'tbbtd'ru

s, PLT|D) = 0.95 | PLTE[DE) = Deas

e wont to Pid P (Shinchan hos the dustase. | Shindan hat
tutd  paitine (f.,-nu dwaret) be Pl_D]T).

— 1 mak
uuapph# Bayes mle

P(DI) = PIT o)(-ﬂ?(n) — 1 wadk
P

T numereidie b0 k. To find ke deominali | we
we the bl pwb e o ;
P(TY = P(T|D).P(p) +PLT|D) -PLDI)
- A md



'fﬁw ,ML&\N . F(T,D) PLD\ = D965 x 00|
PT) = 095K 0-01 4005 % 099

:. Plo(T) = 0Dwpaf = O-f¢!
0-D
9—2%.
e can condmds Hiat  wren He tut b

rliabte, thure a 6% chanee +on Shinchan
_has  Covip-19 given Hak he teded positive .

Qs[‘a. 0)  The sonpl spoie  fic Mo pablem G be
wolltn &0 !
Q= §b, 0, qb,863 —1mk
&'-P,vm/

4 G

We nd % find Pl & childrenore gidk | Eltse ki
ic agif) = P O g, Flde okild ingirl)
T (Elder ckild i o qinl)
( de}> 7 eonditumal pat).




: Julalbayv
s, P %Amﬂgl Etdsr

2 mads -

= | .
= yq L
Va

Space S) Lﬂhgm(ﬁv—fﬁ:.rw%n/
’mxmn’{lz a
4’) 6o Wl .

u

- !_uw{’m b v
P(Wﬂ\bm{ , ob : )

marks
Yy = ] . 2



&(ra- Qala : 4o 30,60 109,90

0) Fiwe f\rﬂwﬂa
M i vam 40

() Fet fradile : 4D - 2madks
Mdion @ o

() Thod fundte : 9
Maxinmuum ¢ LoD

b M’ v\.'-?evll- = Uy- T . =
) (-r&&)m‘r %0 ‘70_ ivu::
&) boxplot




D W g peinkt tie viken FSTAR of ke finf
M:ﬁwﬂ- alvwr'ct'lw V] 'mi.td-‘ 7»@'4}%! o an
Lt Ler . — 1 mark

@W""O N Ry

D Fuwdod  dwidhon - @5 457 - 9 macks.

8) Stymmeddn ¢ -1 e



